Signal
Processing
With
Scilab

Scilab Group



-90
2100 -
-110 -

120 -
130 -

-140 -
-150 -
-160

db Magnitude

10

0

-90

-180
1
10

10 10 10 10

Hz

1344

1212

10.79 —

9.47 —

8.14 —

6.81 —

4.16 —+

2.84

151

0.19

4.64

7.44 10.23 13.02 15.82 18.61 2141 24.20 27.00 29.79 3258




-->a=-2%Jpi;b=1;c=18%*)pi;d=1;

-->sl=syslin(’c’,a,b,c,d);

-->bode(sl,.1,100);

-->s=poly(0,’s?’);

—=>S1=s+2x*Ypi* (156+100%*%1i);

-=>S2=s+2x*pi* (156-100%*%1i);

-->h1=1/real (S1%S2)

403666.82 + 188.49556s + s

-->hil=syslin(’c’,hl);

-->bode(h1,10,1000,.01);

-->h2=ss82tf(sl);

-->bode (h1%h2,.1,1000,.01);






